Operations on Polynomials
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Name: (O 1

Part I: Classify the following polynomials by degree and number of terms . For the number of terms, use
vocabulary such as monomial, binomial, trinomial or polynomial.

1) m’

3) p*+p'r’

7) -3h +g?

9) —-f—4+1° +f2

2) 2x —2+4x’

4) —4u+2

6) —z+0

2

8) x’y +x* +14xy

10) 7+)

1) Degree: 5 (cg b/\c.)

# Terms: (ROANMIAL

2) Degree: a (%#MMZ(C>

# Terms: i’Vli’Uwua,(

3) Degree: ?

# Terms: (OQMWW

4) Degree: l U‘W)
# Terms: binomial

5) Degree: O
# Terms: Weowonaiaf
6) Degree: [ ( hw)

movwvgu al

# Terms: -b:uaﬂisi!v{

7) Degree: Z !ggedrﬁn,"c.)
rorms. (0T
# Terms:

8) Degree: _‘ (qf‘cu(h“o)

# Terms: ihﬂMﬂAi
9) Degree: 5 ( (‘/Ldb(c)

# Terms: @W

10\ egreea, | __(lfw )

# Terms: VOAomiad




Part I1: Add, subtract or multiply as appropriate. Write your answer in descending degree order.

1D (a+7)+(’ +4)

13) (3¢’ +2¢” —4)—(c’ ~2c° +4)
-C5+2CZ -q

15) F+2)(f* =f+1)
£3-£24°¢
£¥262-2(+2

17) (1=h)(2 +h)

2 -h-W*

19) (2k +3)(5k +1)

21) (n=D(n* +n+1)

" w4
_h"‘ -n -—l
o -n-l

12) (b> =2b)—(~b+3)
b2-2b+bo-3

14) (d° +3d? +3d +1)—(3d +3d%)
-34-3d*

16) g'(3g—4)

18) Bj—7N(4j-2)

20) (7m—2)(3m+2)

22) (p* +2p+4)(p-2)
Pa’ + 2p1’+ Hp

"ZP‘L —-L{P"%

3
i a +a+ll

12) b>-b-3

13) 205+¢4,2%-%

14 3% 4\

15y £3+ 2+ 2

16) 398_4@4

17 4 -h*-h+2

18 12)* - 34} 414

19 1041+ 3

20) 2lw* + Bm -4

5 4
2 N-N en |

22) lo3— 8

e




Part I11: Simplify the following expressions. Write your answer in descending degree order.

23) (x+7)(3x —4) = (3x? +2x) 24) (y' —4y+D)(y+2)-(2y’+3)  23) _15%-2%
BxF+ 1Fx-28 -3%*-2x Voo Yy
zjz%% ‘“‘3.\)*2

Y
2y Sy 2 4223 29N+ YNt il

25) CQw+DBW+T)—(Q17Tw+7) 26) (22 +1)(z-4)+(z+1)(z+2) 25) bw*
ow? +Fw+3 13w -3 224y T
+Z =Y

26) 2322 +lz -2

23%Ytre-yd +2he 3242

Part IV: Division of Polynomials

27) Divide (4x° -3x’ +x) by (x ) 27) 4x9-3x%+ |
28) Divide (6a* —3a’ —12a%) by (3a?) 28) 2a*-a-H
29 (Zt+l)
29) Divide (z> +2z—24) by (z—4) - fU 2 -2y
z-4[22+22-24 Y 24
~(2*44%) L b o
(&"ZLI 'ﬁ"'(f)
- bz424 ( 30)_ IS
30) (12y2 +36y+15)=(6y +33 0] '
- . S;
2y+¢S5 _YEJ 2 b
by+3 2y2 430y 1S -| %
2yl 7§ 0
30y £S5
_ '?Jbﬂ £15 ® g dot B 12 __3‘0_ l‘.;;
D \Z. 3o o

(Y430 = G (zya»?\)




/El 31) Divide (9b> +9b-10) by (3b—2)

31 bt
—o
B3 3 "4
Sbro 2 o3 ¥ you o
3b-2{4b*44b- [0 P %19 4 -Io To+15=
~ab+6h , %) L 16 3(3b+S)
- T
— (o}
—28 IS
2 =(2x— , F3 +ox-
» 32) (4x7 +6)+(2x~3) - %2 o 3 ¢ gou do2 3D 2X¥F3 +2x-3
5 r___?_-ué*_?-’x‘f ' 2 % _3_’ 4 o0 6
2%-3 Tdy2y ox+t 2 3 I3 Z b_a
x4 bx, kg T 42 1 0 IS
bx+l ' " Yo had *2 i
Part VI: In the following proglems, compute the area of the shaded region. 2 (ZXf"B) L5 -

% 33)

wiyple area ~  unshaded 33) IZX3+4xz—X-|

(42 e))(Px+2) —  (e)(x+3)

25 12x348%2+3x42 — (x*4Hx+3)
4x7+ 1 )
o R ¥ = "2
% W 34)_Ax* +25x +23
| | 2x+3

f { M ~  unshaded |
LI @)t  XD3)

ax+7 82k Mx e 2xe2) — (x% x~06)

ExZ+20x¢2) —x* — X+l




Name: Date:

Operations on Polynomials
Part I: Classify the following polynomials by degree and number of terms .For the number of terms, use
vocabulary such as monomial, binomial, trinomial or polynomial.
1) Degree:
1) m’ 2) 2x —2+4x?
# Terms:
2) Degree:

# Terms:

3) p+p'r’ 4) —4u+2 3) Degree:

# Terms:

4) Degree:
# Terms:
5)2 6) —z+0 5) Degree:

# Terms:

6) Degree:

# Terms:

7) =3h+g’ 8) X’y +x* +14xy’ 7) Degree:

# Terms:

8) Degree:
# Terms:

9) —f—4+1° +17 10) 7+ 9) Degree:

# Terms:

10) Degree:

# Terms:




Part II: Add, subtract or multiply as appropriate. Write your answer in descending degree order.

1D (a+7)+ (@’ +4)

13) (3c® +2¢ —4)~(c* —2¢* +4)

15) (F+2)(f2—f +1)

17) 1-h)2+h)

19) (2k +3)(5k +1)

21) (n=D(n* +n+1)

12) (b® —2b)—(-b+3)

14) (d* +3d? +3d +1)—(3d +3d?)

16) g’(3g-4)

18) 3j—=7)(4j-2)

20) (7m—2)(3m+2)

22) (p* +2p+4)(p-2)

1)

12)

13)

14)

15)

16)

17)

18)

19)

20)

2y

22)




Part 1II: Simplify the following expressions. Write your answer in descending degree order.

23) (x+7)(3x —4)-(3x* +2x) 24) (y’ =4y +D(y+2)—(-2y* +3) 23)
24)
25) Qw+DEBW+T7)-(1Tw+7) 26) (22 +D)(z—-B)+ @z +1)(z+2) 25)
26)

Part IV: Division of Polynomials

27) Divide (4x° —3x> +x) by (x ) 27)
28) Divide (6a* —3a’ —12a%) by (3a%) 28)
29)

29) Divide (z° +2z—24) by (z—4)

30)
30) (12y” +36y +15)=(6y +3)




31) Divide (9b° +9b—10) by (3b—-2) 31)

32) (4x* +6)+(2x-3) 32)

Part VI: In the following problems, compute the area of the shaded region.

=) 3x+2 35)
a4x? + 1
34) 34)

4x +7




